

Kelmscott Senior High School

**YEAR NINE
2026**



**ALL ORDERS MUST BE COMPLETED
Online at
www.campion.com.au
by
Friday 19th December 2025
Using "CGQB" as your code**

Orders can still be placed past the 'return date' but it may incur a late fee.

PREPACKAGED DELIVERY SERVICE

HOME DELIVERY

Your order will be delivered by the 28th January 2026 for \$8.00, if placed on or before the return date of Friday 19th December 2025.

Orders placed after the return date will incur additional charges. If ordering later please allow sufficient time for delivery to occur prior to the commencement of the school year.

Please refer to our website @ www.Campion.com.au for all up-to-date information and terms & conditions.

Please tick the items required in the box provided ↓

Office Use	Description	Item No.	Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
YEAR NINE						
AGRICULTURE						
AGRICULTURE - GENERAL						
No special resources required.						
AGRICULTURE - SPECIALIST						
No special resources required.						
ENGLISH & LOTE						
ENGLISH						
P55493	Document Wallet FC Slimpick Buff	1	<input type="checkbox"/>	1	1.10	1.10
P50328	Exercise Book A4 128 Page 8mm with Margin #110 Spirax	2	<input type="checkbox"/>	1	2.25	2.25
P56388	Loose Leaf Refills Reinforced A4 7mm Pkt 100	3	<input type="checkbox"/>	1	4.25	4.25
LOTE - GERMAN						
P55492	Document Wallet FC Slimpick Blue	4	<input type="checkbox"/>	1	1.10	1.10
P50779	Exercise Book A4 48 Page 8mm with Margin #100 Spirax	5	<input type="checkbox"/>	4	1.25	5.00
P50186	Highlighter Marker - Yellow	6	<input type="checkbox"/>	1	1.60	1.60
LOTE - JAPANESE						
P36832	iiTomo 2 (Activity Book) 3E New Edition for 2026 <i>Due approx. Late December 2025</i>	7	<input type="checkbox"/>	1	24.95	24.95
P55494	Document Wallet FC Slimpick Green	8	<input type="checkbox"/>	1	1.10	1.10
P50779	Exercise Book A4 48 Page 8mm with Margin #100 Spirax	9	<input type="checkbox"/>	1	1.25	1.25
HASS – HUMANITIES & SOCIAL						
HASS – HUMANITIES & SOCIAL						
P55491	Document Wallet FC Slimpick Brights	10	<input type="checkbox"/>	1	1.10	1.10
P50328	Exercise Book A4 128 Page 8mm with Margin #110 Spirax	11	<input type="checkbox"/>	4	2.25	9.00
P55669	Graph Pad A4 25 Leaf 1mm 7 Hole Punched #801 Spirax	12	<input type="checkbox"/>	1	3.35	3.35
P56354	Protractor 10 cm 360 4" Full Circle	13	<input type="checkbox"/>	1	0.90	0.90
CRIMINAL INVESTIGATIONS						
P55470	Display Book A4 20 Pocket Green/Lime Non-Refillable	14	<input type="checkbox"/>	1	4.95	4.95
P65021	Document Wallet FC Polydoc Clear	15	<input type="checkbox"/>	1	2.50	2.50
P50779	Exercise Book A4 48 Page 8mm with Margin #100 Spirax	16	<input type="checkbox"/>	2	1.25	2.50
GLOBAL STUDIES						
P55469	Display Book A4 20 Pocket Blue Non-Refillable	17	<input type="checkbox"/>	1	4.95	4.95
P51006	Document Envelope A4 PP With Press Stud Blue	18	<input type="checkbox"/>	2	1.25	2.50
P50779	Exercise Book A4 48 Page 8mm with Margin #100 Spirax	19	<input type="checkbox"/>	2	1.25	2.50
HEALTH & PHYSICAL EDUCATION						
HEALTH EDUCATION						
No special resources required.						
PHYSICAL EDUCATION						
1 x Navy sports shorts *Uniforms available from Perm-A-Pleat Forrestdale						
SPECIALISED PROGRAM - ATHLETICS						
Specialised Athletics Uniform *Uniforms available from Perm-A-Pleat Forrestdale						
SPECIALISED PROGRAM - SOCCER						
Specialised Soccer Uniform *Uniforms available from Perm-A-Pleat Forrestdale						
MATHEMATICS						
P52000	Calculator Casio Scientific FX-82AU Plus II 2E Or comparable scientific calculator.	20	<input type="checkbox"/>	1	41.95	41.95
P54148	Exercise Book 225x175mm 64 Page 8mm #P191 Spirax	21	<input type="checkbox"/>	4	1.15	4.60

Please tick the items required in the box provided ↓

Office Use	Description	Item No.	Item Reqd <input checked="" type="checkbox"/>	Qty Reqd	Unit Price \$	Total Amount \$
SCIENCE						
P52000	Calculator Casio Scientific FX-82AU Plus II 2E The same calculator as for Mathematics (can be retained from last year)	22	<input type="checkbox"/>	1	41.95	41.95
P50434	Document Wallet FC Polydoc Summer Colours	23	<input type="checkbox"/>	1	2.50	2.50
P54148	Exercise Book 225x175mm 64 Page 8mm #P191 Spirax	24	<input type="checkbox"/>	4	1.15	4.60
TECHNOLOGIES						
FOOD & TEXTILE TECHNOLOGIES						
THE FOLLOWING UNITS;						
<ul style="list-style-type: none"> • Caring for Children • Food, Fun & Facts • Food Masters • Textiles 						
No special resources required.						
DIGITAL TECHNOLOGIES & BUSINESS						
THE FOLLOWING UNITS;						
<ul style="list-style-type: none"> • Animation and Game Design • Digital Entrepreneur • Robotics and Programming 						
No special resources required.						
DESIGN & TECHNOLOGIES						
THE FOLLOWING UNITS;						
<ul style="list-style-type: none"> • Introduction to Engineering • Jewellery 3D Design • Woodwork 						
No special resources required.						
THE ARTS						
DANCE						
No special resource required.						
DRAMA						
No special resources required.						
GRAPHIC ARTS						
No special resources required.						
MEDIA						
No special resources required.						
MUSIC - SPECIALIST						
P55442	Display Book A4 20 Pocket Black Refillable	25	<input type="checkbox"/>	1	2.30	2.30
P51006	Document Envelope A4 PP With Press Stud Blue	26	<input type="checkbox"/>	1	1.25	1.25
P55522	Eraser Plastic Pencil Economy in sleeve	27	<input type="checkbox"/>	1	0.70	0.70
P55924	Music & Theory Book 152 x 248mm 18 leaf/36 pages Spirax #569	28	<input type="checkbox"/>	1	3.20	3.20
P52001	Pencil (2B) Goldfaber	29	<input type="checkbox"/>	4	0.70	2.80
VISUAL ARTS 2D & 3D						
P55522	Eraser Plastic Pencil Economy in sleeve	30	<input type="checkbox"/>	1	0.70	0.70
P56081	Marker Artline #200 Black 0.4mm	31	<input type="checkbox"/>	1	3.95	3.95
P52001	Pencil (2B) Goldfaber	32	<input type="checkbox"/>	1	0.70	0.70
P52014	Pencil (6B) Goldfaber	33	<input type="checkbox"/>	1	0.70	0.70

Please tick the items required in the box provided ↓

Office Use	Description	Item No.	Item Reqd <input checked="" type="checkbox"/>	Qty Reqd	Unit Price \$	Total Amount \$
GENERAL STATIONERY REQUIREMENTS						
P55522	Eraser Plastic Pencil Economy in sleeve	34	<input type="checkbox"/>	1	0.70	0.70
P51353	Glue Stick 40gm Artline Purple	35	<input type="checkbox"/>	2	2.95	5.90
P51464	Headphones Stereo Deluxe Lightweight with Volume Control	36	<input type="checkbox"/>	1	11.35	11.35
P56388	Loose Leaf Refills Reinforced A4 7mm Pkt 100	37	<input type="checkbox"/>	1	4.25	4.25
P56095	Pen Ballpoint Cap Type Blue Medium	38	<input type="checkbox"/>	2	0.35	0.70
P56096	Pen Ballpoint Cap Type Red Medium	39	<input type="checkbox"/>	2	0.35	0.70
P56172	Pencil (HB) Tradition	40	<input type="checkbox"/>	2	0.95	1.90
P56213	Pencil Case 340x170mm Name Large	41	<input type="checkbox"/>	1	3.75	3.75
P56252	Pencils-Coloured 12's Colourush	42	<input type="checkbox"/>	1	4.85	4.85
P56328	Pocket Plastic A4 11 Hole Pkt 10	43	<input type="checkbox"/>	1	1.40	1.40
P50090	Ruler 300mm Wooden Celco	44	<input type="checkbox"/>	1	1.10	1.10
P52626	Scissors 178mm/7" Student Westcott Antimicrobial	45	<input type="checkbox"/>	1	3.35	3.35
P56242	Sharpener Pencil Barrel Double Hole (EL)	46	<input type="checkbox"/>	1	2.10	2.10
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	47	<input type="checkbox"/>	1	14.05	14.05

Optional Extra

BRING YOUR OWN DEVICE (BYOD) PROGRAM

Please refer to our school website for more information regarding the Bring Your Own Device (BYOD) Program.

Students require compatible headphones for their device.

Number of Boxes ticked:

Postage (Home delivery only)

\$8.00

ESTIMATED AMOUNT DUE
(PRICES CORRECT AT 11/11/25)

\$ _____